
Multi Bypass Attachment Kit for Vacuum Feed LCIT Type S

(D3EW)

Parts Catalog

Copyright (c) 2006-2018 Ricoh Company, Ltd.    2018/02/26 Version 1.00



U001
MAIN DRIVE

Unit All

Copyright (c) 2006-2018 Ricoh Company, Ltd.    2018/02/26 Version 1.00



3.A2324666
CUSHION - STEPP
ER MOTOR

7.D7771371
CUSHION:SPACER
:LARGE CAPACITY
 TRAY

4.AX040279
STEPPER MOTOR:
PAPER TRANSPO
RT MD:MM42

1.04543006Q
(x4)
TAPPING SCREW -
 M3X6

6.D5171299
COVER:UPPER:MI
DDLE

5.B8304263
TIMING BELT - 60S
2M140

8.D7773038
BRACKET:DC STE
PPER MOTOR:MM
42

2.04544008Q
(x4)
TAPPING SCREW -
 M4X8

U001
MAIN DRIVE

Copyright (c) 2006-2018 Ricoh Company, Ltd.    2018/02/26 Version 1.00

U001



Number Part Name Group ID
U001 3A2324666 CUSHION - STEPPER MOTOR
U001 4AX040279 STEPPER MOTOR:PAPER TRANS

PORT MD:MM42
U001 5B8304263 TIMING BELT - 60S2M140
U001 6D5171299 COVER:UPPER:MIDDLE
U001 7D7771371 CUSHION:SPACER:LARGE CAPAC

ITY TRAY
U001 8D7773038 BRACKET:DC STEPPER MOTOR:M

M42

Exclusive Parts

Copyright (c) 2006-2018 Ricoh Company, Ltd.    2018/02/26 Version 1.00



04543006Q
TAPPING SCREW - M3X6

04544008Q
TAPPING SCREW - M4X8

Standard Parts

Copyright (c) 2006-2018 Ricoh Company, Ltd.    2018/02/26 Version 1.00




	Unit All
	U001 MAIN DRIVE
	Exclusive Parts
	Standard Parts

